## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DOUGLAS SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2021-22 SCHOOL YEAR ONLY, \$32.26 PER HOUR (21-22): (10-1250-0000-1341-497-1)

Halcomb, Greg

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 2, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Drennan, Emily Grieme, Nathan Frech, Jane Scott, Dawn

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 9, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Baldin, Jennifer	2.00 hours	\$64.52	
Brillhart, Sarah	2.00 hours	64.52	
Punke, Lindsay	1.00 hours	32.26	

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 10, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-531-2)

Jackson, Beverly Peterman, Sarah Moore, Lori

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL BUILDING TECH LEADER ACTIVITIES SECOND QUARTER OCTOBER 25 THROUGH DECEMBER 23, 2021, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Cuzzort, Samantha	1.00 Stipend	\$256.25
Dickman, Barbara	1.00 Stipend	37.50
Jachino, Rachel	1.00 Stipend	93.75
Schaefer, Bridget	1.00 Stipend	102.00

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 2, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Baldin, Jennifer

Punke, Lindsay

Brillhart, Sarah

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 3, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Nolen, Emily

Punke, Lindsay

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL IMSA TEACHING - THIRD QUARTER PAYMENT FEBRUARY 7 THROUGH MARCH 15, 2022, \$32.26 PER HOUR, 10 HOURS FOR A TOTAL OF \$322.60: (10-2210-4201-1341-000-0)

Monahan, Sarah

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL EQUAL OPPORTUNITY SCHOOL ACTIVITIES MARCH 9, 2022, \$32.26 PER HOUR, .5 HOURS FOR A TOTAL OF \$16.13 EACH: (10-2210-0000-1341-531-2)

Hodapp, Brad

Morrison, Alexis

Hunsley-Hunt, Stephanie

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 24 THROUGH MARCH 3, 2022, \$32.26 PER HOUR, 24 HOURS FOR A TOTAL OF \$774.24: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY KIDZEUM PLANNING FEBRUARY 9 THROUGH FEBRUARY 16, 2022, \$32.26 PER HOUR, 4 HOURS FOR A TOTAL OF \$129.04 EACH: (10-2210-0000-1341-564-2)

Beck, Melissa

Pyle, Amy

Dresch, Kim

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2021-2022 MEDICAID BILLING ACTIVITIES JANUARY 10 THROUGH FEBRUARY 28, 2022, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Brinkmann, Kristen	9.00 hours	\$53.81 per hour	\$484.29
Brown, Mary	2.00 hours	\$66.17 per hour	132.34
Clark, Abigail	8.00 hours	\$43.57 per hour	348.56
Clark, Michelle	11.00 hours	\$64.97 per hour	714.67
Coleman, Elizabeth	7.00 hours	\$50.78 per hour	355.46
Corley, Elizabeth	7.50 hours	\$55.10 per hour	413.25
Deatherage, Debra	8.00 hours	\$57.69 per hour	461.52
Dunn, Cara	8.00 hours	\$41.00 per hour	328.00
Farley, Nicole	9.00 hours	\$44.84 per hour	403.56
Febus, Ashley	5.00 hours	\$57.66 per hour	288.30
Fenstermacher, Lori	6.00 hours	\$67.14 per hour	402.84
Foster, Jennifer	8.00 hours	\$48.69 per hour	389.52
Giacomini-Fay, Lisa	10.00 hours	\$63.27 per hour	632.70
Groesch, Erica	4.75 hours	\$67.14 per hour	318.92
Gruenenfelder, Tara	7.00 hours	\$63.27 per hour	442.89
Hummel, Emily	8.75 hours	\$57.66 per hour	504.53
Hussein, Samira	6.00 hours	\$51.25 per hour	307.50
Jaderholm, Annette	8.00 hours	\$68.11 per hour	544.88
Katalinich, Madeline	3.00 hours	\$37.16 per hour	111.48
Kim, Whitney	6.50 hours	\$68.11 per hour	442.72
Kinkade, Taylor	6.00 hours	\$38.44 per hour	230.64
Lanter, Lindsey	4.00 hours	\$47.40 per hour	189.60
Marcum, Stacie	6.00 hours	\$50.78 per hour	304.68
Mccord, Marguerite	12.00 hours	\$55.10 per hour	661.20
Mcdaniel-Norton, Stacey	8.75 hours	\$66.17 per hour	578.99
Moore, Carolyn	3.50 hours	\$56.37 per hour	197.30
Mowen, Lindsay	11.00 hours	\$58.94 per hour	648.34
Naumovich, Amanda	5.00 hours	\$58.94 per hour	294.70
Ohl, Stephanie	7.50 hours	\$44.84 per hour	336.30
Parker, Grayce	3.00 hours	\$46.13 per hour	138.39
Rehn, Megan	8.50 hours	\$37.16 per hour	315.86
Reitz, Laura	9.00 hours	\$56.37 per hour	507.33
Roe, Katie	3.00 hours	\$60.20 per hour	180.60
Rouland, Jill	7.75 hours	\$50.20 per hour	389.05
Ruholl, Renee	6.00 hours	\$38.44 per hour	230.64
Upchurch, Taylor	7.00 hours	\$49.97 per hour	349.79
Vice, Morgan	2.00 hours	\$37.16 per hour	74.32

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION 8TH GRADE SCIENCE PROFESSIONAL DEVELOPMENT MARCH 2, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Cruthis, Douglas Felix, Mary

Vanderslik, Julie

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MATH DEPARTMENT CHAIR PROFESSIONAL DEVELOPMENT MARCH 14, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6493-1341-000-0)

Borah, Jill Horstman, Laura Nicholas, Kelly Wankel, Ashley Womble, Ashley

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION YEAR 2 TEACHERS FORUM NUMBER FIVE FEBRUARY 10, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Boarman, Claire	1.50 hours	\$48.39
Bryant, Sydney	1.50 hours	48.39
Carver, John	1.50 hours	48.39
Erickson, Carlie	1.50 hours	48.39
Finney, Riley	1.50 hours	48.39
Goldstein, Andrew	1.50 hours	48.39
Graham, Brianna	1.50 hours	48.39
Lawson, Tiffany	1.50 hours	48.39
Leach, Dylan	1.50 hours	48.39
Lounsberry, Katherine	1.50 hours	48.39
Lowy, Abraham	1.50 hours	48.39
Murphy, Melissa	1.50 hours	48.39
Ostermeier, Adrianne	3.00 hours	96.78
Spencer, Horazina	1.50 hours	48.39
Tracy, James	1.50 hours	48.39

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES FEBRUARY 22, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES CURRICULUM PROFESSIONAL DEVELOPMENT FEBRUARY 22, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-564-2)

Helton, Colin

Mitts, Jodi

Law, Jordan

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES MARCH 1, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey

XIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2021-2022 MEDICAID BILLING ACTIVITIES JANUARY 20 THROUGH JANUARY 31, 2022, \$33.73 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$84.33: (10-2210-6220-1165-000-0)

Harris, Hirut